

①

سلاسل و تسلسلات

مس
سو

Sequences and infinite Series

1) Sequences

تسلسل

A sequence is a function whose domain is the set of Positive numbers, for example

$$a(1)=1, a(2)=\frac{1}{2}, a(3)=\frac{1}{3}, \dots, a(n)=\frac{1}{n}, \dots$$

$a(n)$ is called the n th term of the sequence, we write a_n instead of $a(n)$, also the sequence, $a_1, a_2, a_3, a_4, \dots, a_n, \dots$ is denoted by

$$\{a_n\}_{n=1}^{\infty}$$

Ex write the first five terms of:-

$$1) \left\{ \frac{2n-1}{3n+2} \right\}, \text{ here } a_n = \frac{2n-1}{3n+2}$$

Sol $\frac{1}{5}, \frac{3}{8}, \frac{5}{11}, \frac{7}{14}, \frac{9}{17}$

$$2) \left\{ \frac{1-(-1)^n}{n^3} \right\}, \text{ here } a_n = \frac{1-(-1)^n}{n^3}$$

Sol $2, 0, \frac{2}{3^3}, 0, \frac{2}{5^3}$

(2)

Ex write the n th term of the Sequences :-

1) $0, \frac{1}{2}, \frac{2}{3}, \frac{3}{4}, \frac{4}{5}, \dots \Rightarrow \text{ans } \left\{ 1 - \frac{1}{n} \right\}$

2) $0, \frac{\ln 2}{2}, \frac{\ln 3}{3}, \frac{\ln 4}{4}, \dots \Rightarrow \text{ans } \left\{ \frac{\ln n}{n} \right\}$

3) $0, \frac{1}{2^2}, \frac{2}{3^2}, \frac{3}{4^2}, \frac{4}{5^2}, \dots \Rightarrow \text{ans } \left\{ \frac{n-1}{n^2} \right\}$

4) $2, 1, \frac{2^3}{3^2}, \frac{2^4}{4^2}, \frac{2^5}{5^2}, \dots \Rightarrow \text{ans } \left\{ \frac{2^n}{n^2} \right\}$

Defn

Definition :- If $\lim_{n \rightarrow \infty} a_n = L, (L \neq \infty)$ then the sequence $\{a_n\}$ is said to be Converge to L . If no such limit exists then the sequence $\{a_n\}$ is diverge.

Ex

1) The sequence $\left\{ \frac{1}{n} \right\}$ Converge to Zero since

$$\lim_{n \rightarrow \infty} \frac{1}{n} = 0$$

2) The sequence $\{n^2\}$ diverge since $\lim_{n \rightarrow \infty} n^2 = \infty$

③

3) The sequence $\{1 + (-1)^n\}$ diverge since $\lim_{n \rightarrow \infty} [1 + (-1)^n]$ does not exist.

Theorem :- let $\{a_n\}$ and $\{b_n\}$ are two sequences such that $\lim_{n \rightarrow \infty} a_n = A$ and $\lim_{n \rightarrow \infty} b_n = B$

$$1) \lim_{n \rightarrow \infty} (a_n \mp b_n) = \lim_{n \rightarrow \infty} a_n \mp \lim_{n \rightarrow \infty} b_n = A \mp B$$

$$2) \lim_{n \rightarrow \infty} (a_n \cdot b_n) = \left[\lim_{n \rightarrow \infty} a_n \right] \cdot \left[\lim_{n \rightarrow \infty} b_n \right] = A \cdot B$$

$$3) \lim_{n \rightarrow \infty} \left(\frac{a_n}{b_n} \right) = \frac{\lim_{n \rightarrow \infty} a_n}{\lim_{n \rightarrow \infty} b_n} = \frac{A}{B} \text{ if } B \neq 0$$

$$4) \lim_{n \rightarrow \infty} (k a_n) = k \lim_{n \rightarrow \infty} a_n = k \cdot A \quad \text{where } k = \text{const.}$$

$$5) \lim_{n \rightarrow \infty} a_n^k = \left[\lim_{n \rightarrow \infty} a_n \right]^k = A^k$$

$$6) \lim_{n \rightarrow \infty} k^{a_n} = \lim_{n \rightarrow \infty} k^{a_n} = k^A, \text{ if } A^k \text{ and } k^A \text{ exists}$$

(4)

Theorem :-

let $\{a_n\}$, $\{b_n\}$ and $\{c_n\}$ be three sequences such that $a_n \leq b_n \leq c_n$, for all n .

if $\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} c_n = L$, Then $\{b_n\}$ Converge to L

Ex Determine which of the following sequences Converge or diverge

1) $\{\sqrt{n+1} - \sqrt{n}\}$

sol

$$\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} \left[\frac{\sqrt{n+1} - \sqrt{n}}{1} \cdot \frac{\sqrt{n+1} + \sqrt{n}}{\sqrt{n+1} + \sqrt{n}} \right]$$

$$= \lim_{n \rightarrow \infty} \frac{1}{\sqrt{n+1} + \sqrt{n}} = 0 \quad \text{it Converge to Zero}$$

2) $\left\{ \frac{3n^2 - 5n}{5n^2 + 2n - 6} \right\}$

sol

$$\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} \frac{3n^2 - 5n}{5n^2 + 2n - 6} = \lim_{n \rightarrow \infty} \frac{\frac{3n^2}{n^2} - \frac{5n}{n^2}}{\frac{5n^2}{n^2} + \frac{2n}{n^2} - \frac{6}{n^2}}$$

$$= \lim_{n \rightarrow \infty} \frac{3 - \frac{5}{n}}{5 + \frac{2}{n} - \frac{6}{n^2}} = \frac{3}{5} \quad \text{it Converge to } \frac{3}{5}.$$

(5)

h.w

$$3) \left\{ \frac{3n^2 + 4n}{2n-1} \right\}$$

h.w

$$4) \left\{ \left(\frac{2n-3}{3n-7} \right)^4 \right\}$$

h.w

$$5) \left\{ \frac{2n^5 - 4n^2}{3n^7 + n^2 - 10} \right\}$$

h.w

$$6) \left\{ \frac{2^n}{5n} \right\}$$

h.w

$$7) \left\{ \frac{\ln n}{e^n} \right\}$$

$$8) \left\{ (1+n)^{\frac{1}{n}} \right\}$$

limits we need

2.3.2

$$1) \lim_{n \rightarrow \infty} \frac{\ln n}{n} = 0$$

$$2) \lim_{n \rightarrow \infty} \sqrt[n]{n} = 1$$

$$3) \lim_{n \rightarrow \infty} x^{\frac{1}{n}} = 1, (x > 0)$$

$$4) \lim_{n \rightarrow \infty} x^n = 0, (-1 < x < 1)$$

$$5) \lim_{n \rightarrow \infty} \left(1 + \frac{x}{n} \right)^n = e^x, (\text{any } x)$$

$$6) \lim_{n \rightarrow \infty} \frac{x^n}{n!} = 0, (\text{any } x)$$

h.w

⑥

Ex Determine which of the sequences converge or diverge. Find the limit of each sequence that converge.

$$1) \left\{ \frac{1-n}{n^2} \right\}, 2) \left\{ \frac{n}{2^n} \right\}, 3) \left\{ \left(\frac{1}{3} \right)^n \right\}, 4) \left\{ \frac{1}{n!} \right\}$$

$$5) \left\{ \frac{(-1)^{n+1}}{2n-1} \right\}, 6) \left\{ 2 + (-1)^n \right\}, 7) \left\{ \frac{1}{8^n} \right\}$$

$$8) \left\{ \frac{1}{10^n} \right\}, 9) \left\{ \frac{1 + (-1)^n}{n} \right\}, 10) \left\{ 1 + \frac{(-1)^n}{n} \right\}$$

$$11) \left\{ (-1)^n \left(1 - \frac{1}{n} \right) \right\}, 12) \left\{ \frac{2n+1}{1-3n} \right\}, 13) \left\{ \frac{n^2 - n}{2n^2 + n} \right\}$$

$$14) \left\{ \sqrt{\frac{2n}{n+1}} \right\}, 15) \left\{ \frac{\sin n}{n} \right\}, 16) \left\{ \frac{2n}{\sqrt{n}} \right\}$$

Infinite Series

①

إذا أردنا أن نجعل ما لا نهائية من ٥ مقام

$$a_1, a_2, a_3, a_4, \dots, a_n, \dots$$

$$\sum_{n=1}^{\infty} a_1 + a_2 + a_3 + a_4 + \dots + a_n + \dots = \sum_{n=1}^{\infty} a_n$$

Def

$$\sum_{n=1}^{\infty} a_n \text{ is Converge to } L$$

إذا كانت قابلية للجمع، هناك طريقة للجمع في

أولاً: في S (نفسه) و

$$S_n = a_1 + a_2 + \dots + a_n$$

$$S_1 = a_1$$

$$S_2 = a_1 + a_2$$

$$S_3 = a_1 + a_2 + a_3$$

⋮

ثانياً: نأخذ النهاية

$$\lim_{n \rightarrow \infty} S_n = L$$

$$\therefore \sum_{n=1}^{\infty} a_n = L$$

if The limit is not exist

$$\therefore L = \infty$$

$$\text{or } L = \begin{cases} \oplus \\ \otimes \end{cases}$$

نفس الجوانب في حالة
رقمين مختلفين

هنا يسمى diverge

Ex

(2)

حدد فيما إذا كانت هذه المتوالية في

Converge or diverge

وإذا كانت Converge (مع) المجموع

$$\sum_{n=1}^{\infty} \frac{1}{n(n+1)} = \frac{1}{1(2)} + \frac{1}{2(3)} + \frac{1}{3(4)} + \dots$$

إذا كان السام
عوضاً عن
حسابنا
ملاحظة

$$a_n = \frac{1}{n(n+1)} = \frac{A}{n} + \frac{B}{n+1} = \frac{A(n+1) + Bn}{n(n+1)}$$

$$1 = A(n+1) + Bn = An + A + Bn$$

$$1 = (A+B)n + A$$

$$\therefore A = 1, \quad A+B=0 \Rightarrow B = -A = -1$$

$$\therefore a_n = \frac{1}{n} - \frac{1}{n+1} \quad \therefore S_n =$$

$$S_n = a_1 + a_2 + a_3 + \dots + a_n$$

$$S_n = 1 - \frac{1}{2} + \frac{1}{2} - \frac{1}{3} + \frac{1}{3} - \frac{1}{4} + \dots + \frac{1}{n} - \frac{1}{n+1}$$

الكل يتسبب ببقاء الأول والآخر فقط

$$\therefore S_n = 1 - \frac{1}{n+1}$$

$$\lim_{n \rightarrow \infty} S_n = \lim_{n \rightarrow \infty} \left(1 - \frac{1}{n+1}\right) = 1 - \frac{1}{\infty} = 1 - 0 = 1$$

$$\therefore \sum_{n=1}^{\infty} \frac{1}{n(n+1)} = 1 \quad \text{or} \quad \sum_{n=1}^{\infty} \frac{1}{n(n+1)} \text{ Converge to } 1$$

③

Geometric Series

$$a + ar + ar^2 + ar^3 + \dots + ar^n = \sum_{n=0}^{\infty} ar^n$$

وصيغتها :-

$$= \sum_{n=1}^{\infty} ar^{n-1}$$

وهي نابذة للجمع ، مجموعها يوجد و هو

1) Converge to $\frac{a}{1-r}$ if $-1 < r < 1$

2) Diverge if $r \geq 1$, $r \leq -1$

$$\sum_{n=0}^{\infty} \left(\frac{2}{3}\right)^n = 1 + \frac{2}{3} + \left(\frac{2}{3}\right)^2 + \left(\frac{2}{3}\right)^3 + \dots$$

it is geometric series

$$a = 1 , \quad r = \frac{2}{3}$$

$\therefore r = \frac{2}{3} < 1 \Rightarrow$ it's Converge
نابذة للجمع

$$\therefore \frac{a}{1-r} = \frac{1}{1-\frac{2}{3}} = 3$$

$$\therefore \sum_{n=0}^{\infty} \left(\frac{2}{3}\right)^n = 3$$

(4)

$$\underline{\text{Ex}} \quad \sum_{n=1}^{\infty} \left(\frac{3}{2}\right)^n = \frac{3}{2} + \left(\frac{3}{2}\right)\left(\frac{3}{2}\right)^1 + \left(\frac{3}{2}\right)\left(\frac{3}{2}\right)^2 + \dots$$

it is geometric Series

$$a = \frac{3}{2}, \quad r = \frac{3}{2}$$

$r = \frac{3}{2} > 1$, it is diverge ,

$$\sum_{n=1}^{\infty} \left(\frac{3}{2}\right)^n = \infty$$

عبارت به بی‌نهایت می‌رسد

$$\underline{\text{Ex}} \quad 0.3333 \dots$$

SD
=

$$0.3333 \dots = 0.3 + 0.03 + 0.003 + \dots$$

$$= \frac{3}{10} + \frac{3}{100} + \frac{3}{1000} + \dots = 3 \left[\frac{1}{10} + \left(\frac{1}{10}\right)\left(\frac{1}{10}\right) + \left(\frac{1}{10}\right)\left(\frac{1}{10}\right)^2 + \dots \right]$$

it is geometric Series

$$\therefore a = \frac{1}{10}, \quad r = \frac{1}{10} \Rightarrow r = \frac{1}{10} < 1 \quad \text{is Converge}$$

$$\therefore \frac{a}{1-r} = \frac{\frac{1}{10}}{1-\frac{1}{10}} = \frac{0.1}{0.9} = \frac{1}{9}$$

$$\therefore 0.3333 \dots = 3 \left[\frac{1}{9} \right] = \frac{3}{9} = \frac{1}{3}$$

(5)

اختباران فيما اذا كانت المتوالية قابضة لبيس أم لا:

* Test for Convergence and divergence

اول اختبار هو

1) The nth Term Test

ملاحظات

$$1) \lim_{n \rightarrow \infty} a_n \neq 0$$

$$\sum_{n=1}^{\infty} a_n = \text{diverge}$$

ناتجة لبايول a_n
 اذا كانت المتوالية غير صاعدة لبيس
 نتفاه ان الالة Diverge

$$\sum_{n=1}^{\infty} \frac{2n}{n+1}$$

$$\text{sol} = \lim_{n \rightarrow \infty} \frac{2n}{n+1} = \lim_{n \rightarrow \infty} \frac{2n}{n+1} = \lim_{n \rightarrow \infty} \frac{2}{1 + \frac{1}{n}} = 2 \neq 0$$

by the nth Term Test, it's diverge

2) Integration Test

اختبار التكامل

$$\text{if } \sum_{n=1}^{\infty} a_n \Rightarrow \frac{f(x)}{a_n} = \frac{2n}{n+1}$$

$$\text{we find } f(x) = \frac{2x}{x+1}$$

$$\int_1^{\infty} f(x) dx$$

- اذا كانت نتيجة التكامل K لعدد حقيقي

$$\sum_{n=1}^{\infty} a_n = \text{converge}$$

- اذا كانت نتيجة التكامل ∞

$$\sum_{n=1}^{\infty} a_n = \text{diverge}$$

اولا نحدد a_n
 الى $f(x)$
 ثم نجد التكامل

$$\sum_{n=2}^{\infty} \frac{1}{n (\ln n)^2} \quad \textcircled{6}$$

Sol

$$a_n = \frac{1}{n (\ln n)^2} \Rightarrow f(x) = \frac{1}{x (\ln x)^2}$$

$$\int_2^{\infty} f(x) dx = \lim_{b \rightarrow \infty} \int_2^b \frac{dx}{x (\ln x)^2}$$

$$= \lim_{b \rightarrow \infty} \int_2^b \frac{1}{x} (\ln x)^{-2} dx = \lim_{b \rightarrow \infty} \left[\frac{(\ln x)^{-1}}{-1} \right]_2^b$$

$$= \lim_{b \rightarrow \infty} \left[\frac{-1}{\ln x} \right]_2^b = \lim_{b \rightarrow \infty} \left[\frac{-1}{\ln b} + \frac{1}{\ln 2} \right] = \frac{1}{\ln 2}$$

$$\therefore \int_2^{\infty} f(x) dx = \frac{1}{\ln 2} = \text{finite}$$

it is Converge

(7)

P-Series :-

درجی ہر (کے) انکس :

$$\frac{1}{1^p} + \frac{1}{2^p} + \frac{1}{3^p} + \dots = \sum_{n=1}^{\infty} \frac{1}{n^p}$$

$$p > 1$$

درجی Converge کنڈا یکن

$$p \leq 1$$

درکون Diverge کنڈا یکن

Ex Test The Series

$$\sum_{n=1}^{\infty} \frac{1}{\sqrt{n}} = \sum_{n=1}^{\infty} \frac{1}{(n)^{\frac{1}{2}}}$$

بالمبارتہ مع الصیغہ اسے تجزیہ P-Series

∵ $p < 1 \Rightarrow$ it is diverge

